dlgebra Sistemi di equazioni di I grado
' {;Cx+—yy==57 R:(3;2)
’ {iniiﬁal R:(2:3)
’ {ixfyzi igl R: (~1;2)
! {Si : %’y==11 R (%%)
; {2§f§§::23 R(~253)
o gyl -
’ {gx_—yélj ;1—3 R: (;g)
’ {;c -||-_ 115; ;7—63 R:(=3;-4)
e e
b {gi 1321;;—12 R:(~3;8)
H {13;;_—2{0; i 1 R:impossibile
1 {éﬁ _ §y==__39 R: indeterminato
3—-2x y «x
13 { 3 +E=Z R:(2;5)
Ix—y=1
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14

11
2¥ 737"
3x =5(y+3)

Sistemi di equazioni di I grado

R:(0;-3)

15

R:impossibile

16

17

R-( 3. 1)
N2 2

18

R:indeterminato

x+y 1
> =x+y+§
19 Sy — 15 Ly ) R:(2;-3)
2 2
x x-—3y
§+ z +t6=x+y
20 : +1_5y—3x+4 R:(4;3)
XTIy T
3 X — 2x +1
—(1+2x) + Y _
21 4 4 2 R:(—1;-2)

x+1 2x-—y
2 3
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dlgebra Sistemi di equazioni di I grado

’s {2x+6y=3 11
4x -3y =1 =273

’3 {x+2y=3 o
3x +2y =7 X=2y=3

o {3x+2y=4 o
S5x+4y =7 x=Ly=5

. {4x+3y=3 11
2x 43y =2 =273
! 2y = 21 7

26 {gx— y=0 x=iy=o
Sx+4y=7
2x—y=1 . .

27 {6x—3y= 3 : indeterminato

28 {2x—4y=3 . bil
4x —8y =5 : impossibile
3
-x+y=19

20 {2 4 rx=12y=1
y+§x=17
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Sistemi di equazioni di I grado

1( N 3 _ .
2 27 =

Rix=3,y=4
30 { 1 +3 ~
3* T3V T
2 1
31 VTR TR x=t, 2]
2x—y+17 7 Rix=y7r=3
3 Y=3
1 1 1
e —
3 5 90 o1 1
- {1 11 Rix=31y=3
37T TR
x—2y 46
x — =—
15 15 32 17
3 X+ 2y Rix=giy=-5
2x——==11+2y
x+y+3 9y = 4
34 2 TexE Rx—i- _E
x+y—1 4 IR

1
35 {x +Ey = R: impossibile
4x+2y =5
1 —
36 { 3x —gy =6 R: indeterminato
—15x +y =-30
3x+2y=4

37

|

3
Zy—z(x+3)=—5

Rix=1y=

N =
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